6.7 Solving Equations with nth Roots and
Solving Radical Equations
Honors Algebra 2

1. Solve the following equations:
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within the set of REAL NUMBERS!

Case #1: The variable is not under the radical and is in two separate terms.
-> Move the terms with the variable to one side
-> Factor out x
=> Divide by the Coefficient
-> Rationalize the denominator
=> Check Solutions
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Radical Equation: an equation with radicals that have variables in their radicands. Solve
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6.7 Solving Equations with nth Roots and
Solving Radical Equations

Honors Algebra 2
Case #2: One variable and is IN the radical
-> Isolate the term with the radical
=> Undo the radical operation - INVERSE!
= Solve for the variable
- Check the solutions
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6.7 Solving Equations with nth Roots and
Solving Radical Equations

Honors Algebra 2
Case #3: The variable is IN TWO separate radicals
—> Separate the radical terms to opposite sides of the equation
=> Undo the radical operation (square both sides)
-> Isolate the remaining radical term
-> Undo the radical operation - INVERSE!
=> Solve for the variable
=>» Check Solutions
7. Vx+1-V3x=-1 8. Vx+10=8-vx-6
2
X\ = <) al3x (mz=(%-,fx-a

2 GH = W VX 4 (x=0)
(Fxm ) = (1 a3m)” X0

X+I10 = S8 +X - Vo Tx-t
AN IR o) M )

48 =~k Jx-u
X+l =2 | Sf3X -§3x  + 3AX
J-— J— 3 3 ix-L
2
X\ =\ -“Z‘E)T 23X 37- -;(m)
&
\D‘Qb ~ 'ZX =’2r3—; q-_ X =(p
Ny
PR X = {3x j\5‘= % f
2
2
A 5(337) chech ',
x* = 2x g *l0 =2 %= im0
x% -3x =0 5= s-03
x(x-3) =06 S:®-3

S =25V




)

o



